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Kf;NfhzpfSk; ehw;gf;fy;fSk;
Kf;Nfhzpapd; Gwf;Nfhzq;fs;

ABC  ,d; gf;fk; BC MdJ D tiu

  ePl;lg;gl;Ls;sJ.

ABC ,d; Gwf;Nfhzk; ACD  MFk;.

Kf;Nfhzpapd; gf;fq;fis ePl;Ltjd; %yk;

  Gwf;Nfhzq;fisg; ngwyhk;.

 Kf;Nfhzpapd; Gwf;Nfhzq;fspd; $l;Lj;njhif

 Kf;Nfhzp ABC  apYs;s mff;Nfhzq;fs;

       a0, b0, c0 MFk;. Gwf;Nfhzq;fs; p0, q0, r0

   MFk;.

a0 +  b0 + c0  =  1800  (Kf;Nfhzpapd; mff;Nfhzq;fspd; $l;Lj;njhif 180
0
MFk;)

a0 +  p0  =  1800  (Neh;Nfhl;bd; mLj;Js;sNfhzq;fspd; $l;Lj;njhif 180
0
MFk;)

c0 +  r0  =  1800 (Neh;Nfhl;bd; mLj;Js;sNfhzq;fspd; $l;Lj;njhif 180
0
MFk;)

b0 +  q0  =  1800 (Neh;Nfhl;bd; mLj;Js;sNfhzq;fspd; $l;Lj;njhif 180
0
MFk;)

a0 +  p0   + c0 +  r0  + b0 +  q0  =  1800  +1800  +1800

(a0 +  b0 + c0 ) + (p0   +  r0  + q0 ) =  5400

1800 + (p0   +  r0  + q0 )  =  5400

(p0   +  r0  + q0 )  =  5400  - 1800

(p0   +  r0  + q0 )  =  3600

 Kf;Nfhzp xd;wpd; Gwf;Nfhzq;fspd; $l;Lj;njhif 360
0
 MFk;.

c + k; :-
PQR ,y; x  ,d; gUkd; ahJ?

gapw;rp
1. jug;gl;l cUf;fspy; Mq;fpy vOj;Jf;fshy; fhl;lg;gl;l Nfhzq;fisf; fhz;f?

  1).    2). 3). 4)
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2 juk; 8tTdpah tlf;F

gapw;rp
1. jug;gl;l cUf;fspy; Mq;fpy vOj;Jf;fshy; fhl;lg;gl;l Nfhzq;fisf; fhz;f?

  1).  2). 3).

ehw;gf;fy; xd;wpd; Gwf;Nfhzq;fspd; $l;Lj;njhif

 ehw;gf;fy; ABCD  apYs;s mff;Nfhzq;fs;

       ; p0, q0, r0 ,s0 MFk;.

p0 +q0 + r0 + s0  = 3600

ehw;gf;fy; ABCD ,d; gf;fq;fis ePl;Lk; NghJ

  cz;lhFk; Gwf;Nfhzq;fs; a0, b0, c0>d0 MFk;.

a0 + p0  = 1800  (Neh;Nfhl;bd; mLj;Js;sNfhzq;fspd; $l;Lj;njhif 180
0
MFk;)

b0 + q0  = 1800 (Neh;Nfhl;bd; mLj;Js;sNfhzq;fspd; $l;Lj;njhif 180
0
MFk;)

d0 + s0  = 1800 (Neh;Nfhl;bd; mLj;Js;sNfhzq;fspd; $l;Lj;njhif 180
0
MFk;)

c0 + r0  = 1800 (Neh;Nfhl;bd; mLj;Js;sNfhzq;fspd; $l;Lj;njhif 180
0
MFk;)

a0 + p0  + b0 + q0  + d0 + s0 + c0 + r0  = 1800  +1800 +1800  +1800

(p0 +q0 + r0 + s0)   + (p0  + q0   + s0  + r0)  = 7200

3600 + (p0  + q0   + s0  + r0)  = 7200

(p0  + q0   + s0  + r0)  = 7200 - 3600

(p0  + q0   + s0  + r0)  = 3600

 ehw;gf;fy; xd;wpd; Gwf;Nfhzq;fspd; $l;Lj;njhif 360
0
 MFk;.
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ehw;gf;fy; ABCD ,y; x  ,d; gUkd; ahJ?
800 +700+  x0 + 1100 = 3600
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